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That he is not both flogged and also made to pay - abwma1 7" PPRT

Overview'

Our X723 states that there is an established rule that o%wm P12 PX and therefore
how is it possible that by 1mnX ¥ X2 he pays 01p (in our 73wn) and receives Mpon
(in N7 'on). Our Moo discusses whether the rule of a%wm 712 X applies only
to monetary payments (X1127) or even also to fines (Xo1p).

nvoIN asks:
- *ahwum nirar) ZVJ‘p:"I YNIYN (ow 2,797 MINT RIP P92 NN

It is astounding, for it seems from the first P25 of n>n» ndon that by a fine he is
both flogged and is required to pay; the rule of 25w 77 PR is only by 11m», not by 01p —

mooIn explains how it is ¥nwn that by 01p the ruling is 22wm 7717:
= 7 DONNM 192NT 2NY 179 YWINI 1IN PPIYNT 41):‘11 INM 2297 NOINMJON NINPT

Where the X723 states regarding the dispute between j1291 2''9 in the case where
o7y stated, ‘we are testifying regarding this person that he owes his friend two

hundred 17’, and these 0>7v turned out to be °»m7 0*7v; the X713 there states -
- NNRYY SND PR 239 NIN 5915 “HAR NYWY DIV 17500 3 1329 NPYYA

The ruling of the j229 is understood for they follow their reasoning of, ‘you may
punish him on account of one wickedness, etc.; however what is the reasoning

of »''9, who maintains 1n%wm P19, The X3 answers that n'" -
= NOIP 2) P00 ©YTY 9NN 229 920D ©IP 19V v5 Qv NN NN 6)"1 OV NN 99)

" See ‘Overview’ to the previous X=p1 71"7 ‘010

* A payment is considered a 03p (a fine) if it is not the amount that he actually owes. For instance if an ox kills an 72y

*1v15 he must pay the owner 2°2pw w2 regardless the worth of the 72v. Similarly the payment of 2pw o*wnn for an

7nom 01X is also a o1p for it is the same amount in all cases regardless of the (social) status of the 7¥v1.

? Therefore there should be no question why by 1MnX ¥ X271 he is 02w 71, since the payment of %pw oW nr is a

o1p, where the rule of >wm 7717 11°X does not apply.

* This dispute between 73127 1" is in the 73w» on X,7. The 1321 maintain that the 1= 0*7v are only required to pay to

the alleged borrower two hundred 117 (as the 70 writes (in v>,0° [2°v9W] 2°127) that PAR? MWYH DRt WK 17 oW,

but they do not receive mpon for violating the W7 of 2w ¥ 7¥72 mwn X (in 2°,5 [170°] nnw). However 1" maintains

that a>wm PP,

> The 770 writes (in 2,75 [X¥n] 0127) regarding meting out the punishment of lashes (MpY) that *72 1199 17

"3 wnywa. The word 1nywA (in the singular) means his one wickedness, meaning we can only punish a person for one

7ywA, but not for more than one. Therefore we only punish him with anr 2wX> (see footnote # 4) which the 710

explicitly demands, but we do not punish him additionally with np%n for transgressing the > of m1vn &>.

% A v7 ow X°¥m (generating a bad name) is one who claims that his wife was 7 during the oYX period, bringing

[false] witnesses to that effect. If these witnesses are discredited (through 7nr7), the ¥y7 ow XX is required to pay a

hundred o°%pw to the father and he also receives NP2, as the 10D states in ©>-11°,25 (X¥N) 27127 that MR 110" (referring
1
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Derives that Pn7wn1 P12 from ¥m aw X°xm. The X3 asks, you know why 2"wzn
is o7wn 7717 because a 7''wxw is a v, however how can we apply this to 27y
Pnmr (which we assume is 1n)?” The X7nx answers that %'’ maintains that 1''y

are also a D:P.S This concludes the citation from the X773 in N1>» 'on. N1BOIN continues -
= NN PHMIT DITYT 29307 DIVN Y4 OV NINININ 192999 XY 132904 yawn

It seems that according to the 3129, who do not derive 1"V from 2", because
they maintain that 1''y is a monetary payment, but not a 01, so we cannot derive X111

from ROIp -
= 0YYUN NPIYT Y9 Y NOXINN 929V 12299 NDIp YaN

However we can properly derive a case of o1 (like 11X %¥ 8277) from 2'"wxmn

that he will be both 717Y» and abwn -
- 997 007 PY01RT NYD N9 IMNNA IND WY KN PINTT 7999 K9

And it is the same X»1¥, who struggled here to answer, ‘here (in our 7wn) his
sister was a w1 (therefore he pays 01p), this same &7 concluded there in 'on

Mo» in this manner that n" derives 1"y from 2"w¥m. What therefore is the s'8 23 question
that 2>wm 77172 PR, if by 01p we do say Dowm a? —

MooIN anticipates an answer to his question (and rejects it):
- 1999 191 1NV 1 039) NYIANT 9915 XY

And we cannot answer that the X713 asks from 232y n22 which are monetary

payments. N19010 responds that we cannot say that the question is regarding 0391 nw2 -
- 21598 £39) NWIAN INDT YN NN IMNND JNI 23UNTI NNT

For since X71v answers; ‘here in n1o»n 'on where he receives nipon, it is in a case
where his sister is a n2a3, so there is no 0ip therefore there is MpYn, this indicates

to MpPHn) and 703 78 NN W, We see that he receives mpon» and is also required to pay; two punishments.
" The X1 assumes (as it does in many places) that we cannot derive 711 from 01p.
¥ One may consider 1"v to be X1mn because the payment is not the same for all and it is commensurate with the
amount they wanted to harm the accused. On the other hand it may be considered a 01p, since no loss occurred to the
accused; the 1"y merely attempted to cause him a loss.
? mooin is assuming that the reason the 13271 do not agree with »"3 to derive from 7"wym that 22wm P> by 19, is
only because we do not derive X0ipn X11mn; otherwise where it is a case of 01p (like 1M H¥ X277) we would derive it
from 1"w¥ that 07w 717 (and the ruling of nnx YW 0w will apply by mpom1 11, or other cases).
19 X9 is the one who says in n» 'on that the reason of "1 is because he derives 1"y from 2"w¥m (and that »"3
maintains 1"V is a 01p). Why therefore was it necessary for X7 to answer here 77¥1 10182 185, when he could have
simply said that (even according to the 7327) we derive 01p from "W that he is oown P15,
" nw1a is the shame the woman endures by being violated and 230 (defect) refers to the value of this woman for
marriage, which is decreased, since as a 12w1 she is considered defective. Both 03 nw12 are monetary payments,
for they vary according to the social status of the woman. The s'R7%3 question would be that how can he both pay
0301 N2 (which is 1wn) and receive MpPon, when the rule by 111 is that 22wm 717 PX.
"2 1t is also evident from the x7»3 that the original question was based on the 03p of qo3 @"war; it is only later (after
X2 gave his answer) that the X773 asked 0391 N2 KR K.
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that the X773 never asked 07wn1 7217 1°X X7 based on the payment of 2391 nuna (that the

2301 N1 is the a>wn) -
=27 YN N NY )9 ONT

For if indeed that was the question, X7 did not answer anything, for what
difference does it make that n7312 17X (so there is no 01p) however there is still a payment for
039) N2, so how can he receive MpYn since a2wm 7717 PR. The question remains that according
to the 13127 by 01p we say o2wm a1 for we derive it from 1"wxn, therefore both nvawn are
correct; he pays the 01p and receives Mpon.

N190IN answers:
- NI NP INY PRI DO1Y IR ¥397 133997 1153 )Y W

And one can say; since according to the 3129 who argue with 2''% and maintain
that the payment of "'V is not a ©1p, but rather it is 177 -

- Bynywa 5791 1RYUM P79 PN XON Pye DY Nown 139999 XY 799
And therefore we do not derive 1"y from 2''wx2 that just as by 1"wxw he is 717
0>wn) the same should be by 1"y, but rather 1"y are not b2 PPI» because we

derive from YnYw9 375 that N1ywn 2 0wn K91 12707 AKX DR AW 0Wwn, and so therefore they
just pay (because of ont 7wXD), but do not receive Mmp?n; once that we have come to this

conclusion by 1"V -
= ¥9 DY NOEINN R 19097 D191 1PNNT D2 991D 1D N NNYNY

So now we can derive in all other places (where there is PaY2wnY mpon [even if it
is a 01p payment]) from @ 297w that Prowm P17 X, and we do not derive
from 2''wX% that Pn>wnI % even by a 01 payment —

mooIn will now explain why we derive in all other places from 1"¥ that 1n5wm P12 PR (even if it
is a 01p), but not from Y"wxXmn:
= MPONTIND NOY T°n01 ”vmm 02197 MPYNNI 12299 NPPYNI DO
For we derive the rules of all n1p»» from the nip®» which is written regarding
1"'v, where the prohibition of muzzling is written next to it -
- %3515 12291297 ©>9¥2 132 OIYIAINT

B If 1"y would be a 01p (as »"1 maintains) we derive 1" from 7"wxw that 22wm 7 (since they are both Xo3p), and
the rule of 121 NAR YW Dwn ,Nywa 75 we would establish that only in a case of mpom1 n» (that he receives only
one) but not by mpom1 1 (where he receives both [see later in this mooIn]). However since according to the 1327 the
payment of 1"V is 171, we cannot derive it from 7"wxw (which is X01p), therefore we can establish the 7%°% of *73
YY) (even) by 1mm mpon (as well).
1 See footnote # 5.
1 See footnote # 16. Immediately following the 2’105 of mpo»n (3-8,75 [R2N] 0°127) the 7710 writes (in '7 P109) XY
W72 MW 20NN (one is not permitted to muzzle an ox while he is threshing). We derive from the m2°10 that the 211
mpon is only by a W% which similar to 7%°017 X7 (meaning [for instance] that it must be a Twy? pn°1 K7W WY, etc.).
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For the rule of he shall smite him forty times (the nmp%» 2vn) is written
regarding "'y (as well) -

- Y159 004 NRYONT INGY PRIT 191991 NNRY 17919 135999 MPYN 1ha WNNY 59
And since npb» is written explicitly by 1"v, so we derive that all 398 for which

one receives MY should be similar to the IR of ;12901 which is written near the rules
of mpn, which is discussing 1"V -
- DDA 152 1119193 173 193¥ 993 PRIV 1PPIY PN PRI DITYT 9957 599

So just like by "'y they are not »%w=y 1777 in any event whether the payment
is 1% or BIp -

=915 92NN NHX HNN DYV DIVN INYYH 1 Baynan 929 N9 NPT
For it is an explicit P02 of wnyws 72 which teaches us that you may hold him
liable for one 77¥w" only, etc. but not for two NPYWA (meaning T» and Mp»); this limitation
is valid -
0Y°3Ya DYINN IN DN N2 HY IV 1991 IN INIV ITIYNY YW 1D DIP 129NHN) 179N

Even if they were liable for a oip, for instance ' if at the time when they
testified (falsely), they slaughtered or sold a stolen ox,” either the 1"y

themselves or*' others did it on their behalf, the rule would be that they receive only
the on1 7WX> punishment, but do not pay the 01p

= MPYn Hoa ") ’aNn
The same thing is by all n1p%2 that they receive only one punishment (the mp», but not

the monetary payment*?).

To review; once the 0 non establish that 1" is 17 and not 01, therefore we cannot derive that

16 See 2,2 NOn where X9 states that the two 2?1090 (in 2-X,X3 [X¥n] 0°727) which stated "2 P27%07 NR 178 and 170
31 NI 73 119 are referring to omr 07 (even though the 7w of 1"V is in v2,0° DWOW), W'Y,
7 mooin seems to be saying that just as all NP9 21 have to be similar to 72°0m7 WY (like 7w 12 Ww WY and K>
WYY Pnv1 XOW) because mn°0nT WY is written immediately after the rules of mphn, it certainly follows that (in a
certain sense) the NMpon °2>°11 need to be similar to P 279 who are written in the 7w of mphn itself (see footnote
# 16); so just as by 11 0279 the rule is 1R2wn 12 PR the same applies to all mpon 2»n that PR2wn P12 PR
' See footnote # 5.
' Seemingly since the 1321 maintain that 1"y is X1mn, so how is it possible that they should be 212 a o1, therefore
Mmoo explains that it is possible in a case where they were 751 maw. See ‘“Thinking it over’.
0 If one slaughters or sells a stolen ox he must repay the owner five times the value of the ox. These extra payments
are considered d1p, not 11A7.
2! moon offers this option because it is highly unlikely that they were 7211 2w at the time that they were testifying.
By 177°9m1 2w the rule is that 77°2y 1275 1w v, so if others did it on their behalf it is considered as if the 1"y did it
themselves, and would be liable, if not for the 1nywn *72 limitation.
** This is what the X723 assumes in the question (so how is he required to pay 01p), however according to X7 (in the
answer) the rule will be that he pays the money and is exempt from mpon.
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Prbwm PP from 1"wxIn, but rather 1"y are PrbwM PP PR from nywA >73.% The rule of 1V is
mentioned in the 7w9o of mp‘773,24 so therefore we derive that all mpYn 220 are PRYwRY PRY? PR
from 1"y (just as we derive all mpon from 7»°017 W9, which is written immediately following the
s of Mpon). By 1"v the rule of Pnown P12 1R is in all cases even if the 1m%wn is 01p (for 72
1nyw1 does not differentiate between 011 1), similarly by all mpYn 2% there is no o%wm 71>
regardless whether the m%wn are 1197 or 0Ip.

noIn offers an alternate answer:>
- 26N0)‘,7 1221397 ©YTYT Y920 I8N 213) 19297 ©NIAN 12 PNHNY 13929 NN IV

And additionally, the X''2%>7 answered that the 229 may also maintain that "'y

is a ©1p like n"1, which begs the question why do they not derive that 1"y are Pa?wm P12 from
2"wxIn -
- 273‘!1?3):1 17993 YRWN INYYI 27T DIVN ¥4 O NO8INIM 129959 NI DIPN D)

But nevertheless, the 7127 do not derive 1"y from 2'"@w=2 that 1"V should be 7717
1Pn2wn), since the 109 of WnYw= 972 (from which we derive that 21Wn 12°°m7 7NX PR
nrywA 1) seems to be discussing a case of nipvny 1% -

- P9I NINRY INYWA 213 3P Pyr o X087 ax 133 oIUn NN 2399 Yax
However »''Y maintains that on account of the ax 113 of 2''wxm, we establish

the 11¥°n of MPwa 575 by 17092 and NPHR but not by Mphm1 Tn -
- n5myunwnn N9 prom

# See footnote # 5.

# See footnote # 16.

 The question was that from ma» '0n it seems that by 031 mpn the rule is a>wm [p>.

% Therefore since we see that the 1137 maintain by 1"y that 2%wm 72 PR (because of WnywA >72) this proves that even

by o1p the rule is 22w 3717 PR. We need to explain however why indeed the 13127 do not derive 1"y from 1"wxn, as

n"1 does.

" The reason we do not derive 1"y from 2"w¥ is not because 1"y is 11 and 2"w¥n is 01p (for if that were the reason

the inference would be that by nip%n and 01p he would receive both, for we can derive 03p from 2"w¥), rather the

reason is that the v n of \nywA *75 (which is written by T 07y [see footnote # 16]), which excludes punishing

him for both Pm>wn MpYn is ‘stronger’ than our ability to derive from 1"wxw that Pawm P12, Therefore there is

no longer any inference from the 1327 that by 011 177 the rule is n5wn 1212, but on the contrary, since 1m1 07V is

x01p and nevertheless the rule is that 12wm P17 PR, therefore by all other mpon the rule of Prowm PPI1? PR (which

we derive from 1"V [see footnote # 17]) applies, whether it is %1 or 01p..

% 2% 112 is one of the 072 NwAT1 AMNAW MTA ». It means if the 770 states a rule in one place we apply it elsewhere,

unless there is sufficient reason to distinguish between them. We build up (2X 112) this law to apply elsewhere.

% There is an inherent contradiction between 1"wx (that 2w 1p1%) and the v of MY >3 (that 12°M» AKX PR

nrywn "2 own). The 1127 resolve this contradiction by saying since the v n of 1Yw" >75 is by mpom o1p/1mn (by 1)

we cannot derive from 1"wx¥1m which opposes the ruling of 1nywa *72. However n"7 maintains that there is no

contradiction, for the 1y°n of 1YW >715 is by NP1 N that he is 7?17 1R N, however by Mpon1 01p/111n7 the rule is

derived from 1"wx that a7wm 72, Their dispute is based on whether 1w >73 is referring to Mp?»1 117 (the 1327)

or MpYnY ana (the view of n"7). See footnote # 30.

0 The 09 of 1Nyw 73 is discussing MpYx. The 7N writes NP 975 1107 179 VoW 12°0m. The accused is being

given MpPYn. The 770 limits this punishment of mp5n that it should not be extended to another punishment; 2wn
5
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And 1n"7 removes the 0¥ of MNYYI 73 from it simple meaning which is NP Pan
and he establishes it for mphm 0.

A third approach:
= RYD UYPN ¥ DY NO¥INT P19n5¥i5a w9107 13297 NIYD M) IN

Or you may also say the reason of the 3331 not to derive o>wm 1> by 1"V from

N"wxa is as it is expressed in 9w 71190 that the 21 of a 2''wxm is a novelty -
- 2255050 NP9 9120727

That the 7"wx is held liable just for speaking alone —

Moo responds to the anticipated question:
= 92951191 1799912592 133 PN DITYT 1) DY N7

For even though the 1''y are also liable for speech alone, so why cannot we derive
1"y from 7"w¥m? Moon distinguishes -
= 7093 7PN 0T 2P YT INN DD WITN MHN XY 01PN Yan

Nevertheless, by 1"'v the novelty is not that great compared to 7"wx, since by 1"V

the accused would have suffered a loss on account of their testimony (speech) -
- Py 1> Y NN 1T NUPN TAYION XY ¥ DY Noma Phan

However by 2''wxw nothing would have happened by his speech if there were
no 2°7Y. Therefore we cannot derive 1"V from 7"wxmn.

mooIn concludes (this is referring to the last two 2°¥17°n of '01n that 1"V is X0IP):
= 03P AWM NPIY PN RDIP 120010 029Y IDPANRYT (3,75 91) 19PY ¥1HIWN 199

And this is also indicated later that even if we assume that 1"y is a ®1p,
nevertheless the 1"V are not a»wm Y -

120 ANR DX YW (the 7ywa for which he is receiving mpon), but not for another 7w~ (like payment). This is the
understanding of the 7127, which follows the simple Mmynwn of the 7109. However, according to »n"9 that 1nywn *73 is
referring to Np2m1 n°n (that he receives n°n, but not Mpon), this does not seem to fit with the simple interpretation
of the m109. Nevertheless 1" interprets it so, in order that there would not be any contradiction between 7"wx1 and
nywA 72,
31'x"7 3"5. In our "5’ on X,70. According to this answer, 1"V is X01p, so there is no question (see footnote # 26).
The 1" offers a different answer why (if 1"¥ is X01p) we do not derive from 2" that it should be 22w 5.
2 We rarely find that someone is liable just for speaking without doing any action. Therefore since there is such a
XM by 1"wxmn, we cannot derive that in other cases where there is no such X that it should be a?wn P15,
33 moon is asking that by 2"wxm as well she would suffer a great loss by his M2°7, for she would be put to death, so
why is 7"wxn a greater Y171 than 1"v. To which n1901n replies (see following footnote).
* The husband’s claim that she was 7am would not be accepted (if she denies it). Rather the case of 1"wm is where
he brings [false] 0>7v that she was 71m. If they were orn we apply the dual punishment (of 1m mpon) to the 2"wxn,
so it is not the 7"wxm that caused the potential loss, but rather the (7nm7) o7v, therefore it is a great w17°n that
nevertheless he is liable. However, by 1"y they themselves would have caused a loss, so it is not such a great v17°n
that they are liable for their M12°7, and we cannot derive 1"y from 7"wx¥m, which is a greater w17m.
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- 19 0P N’A PP1ann Foapa 1NN HYTNY XN YUY PR %299 9NRT 1299 N1
Where the X77) states, ‘and according to 7729, who maintains that it is a novelty

which the 790 was wn» regarding ©1p, how will he establish our w»’, this

concludes the citation from the X773, NM90IN continues -
= (.n9m NP NAT NP P92 1Y X207 RDPY 2295 NY DIPIN N INNIN)Y

But why does not 1729 establish the 71w like »''5 who maintains in the first pap

of p''a that -
- 0w nn 1YY OINT IPINY XY 197 NI NDIP 100 01y

"'y is a v1p, for according to ¥''7 we never heard that he maintains 25w n» -
+9TINY YINN 529 NN BYWm NP1V 9304 Nan DIV PXT ¥IYUN NIN

Rather it seems from this that there is no Xin who maintains 25w 7p7% except
for »''1 alone.”

Summary
mooIn offers three interpretations why we cannot infer from the 7127 (who do not

derive 1"y from 1"wx¥), that by 01p the rule is 22wn 77°.

Thinking it over
mooIn writes that 1"y are not 1m7wn1 P12 even if it was a 03P payment, for instance

they were 72m mv.*! However, it would seem that this rule of PrYwm TP PR
applies only (in the case of 1"v) if the mp%n 21’1 and the 1>wn 211 came as a result
of their testimony, but not if the 17 2171 was for something completely unrelated
to their testimony, like the 791 v where seemingly they should be oowm 1!+

% 127 maintains (see 2,72 127) that if the payment is a 03, he is obligated to pay it even if it comes together with a
an°n 2vn.
3 The 7wn on 2,17 states that if one is 12 Y X2 there is no 01p (because he is 7N 2°1), however n"1 according to
7127 maintains that by 01p, he is 217 both 7n°» and 01p.
37 Therefore, we understand that he is 0w 11, for since X01p 1"Y we can derive from 2"w¥n that Dowm p>.
38 However, the mawn of 102 is understood that he is 715 from 01p since there is a i 211, and ¥"1 never ruled that
0%wm nn (even by 01p); it is only »"7 according to 7121 who maintains that by 01p he is a?wm na.
3 Therefore, we cannot establish the 71wn like ¥"9, because only »"9 maintains 22w 75.
40 However, according to the first answer of '01n that 1"V is 1n, for if it would be 01p we would derive it from 2"wx¥mn
that o%wm 1,%. Therefore, according to ¥"1 (who maintains X017 1"V) the rule would be a?>wm P17 so we can
establish the 71wn like ¥"A.
I See footnote # 19.
2 See mmbw NoO3.
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